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SOCIOLOGY
Paper-Ii
Note :  This paper contains fifty (50) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

K-0714

1. Field work or first-hand studies of people 5. Match List — | with List — Il and choose
using participant observation method is the correct answer from codes given
known as below :

(A) Historiography List—1 List—II
(B) Ethnography (Books) (Authors)
(C) Social survey a. Neo functionalism 1. G. H. Mead
(D) Pilot studies and After

o b. The Logic of 2. Michel

2. Who among -the followmg is not a Practice Foucault

structural functionalist ?
c. Sociological 3. Pierre
(A) E. Durkheim ool erre
Ambivalence Bourdieu
(B) Radcliffe Brown
d. Discipline and 4. R. K. Merton
(C) T. Parsons
, , Punish 5. Jeffrey C.
(D) Malinowski
Alexandar

3. The idea of self and society are not being Codes :
identical is conceived by a b c d
(A) C. H. Cooley (A) 3 4 2 1
(B) M. Mead (B) 4 5 9 3

C) P. Berger
©) g ©) 1 3 5 2
(D) H. Mead

(D) 5 3 4 2

4. Which one of the following is a factor that S
does not hinder social mobility ? 6. Egoistic suicide is due to
(A) Superstitions (A) Too much of social integration
(B) Narrow outlook (B) Too little of social integration
(C) Old traditions (C) Too much of social regulation
(D) Spread of education (D) Too little of social regulation
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9. Match List — | with List — Il and choose

7. The following four thinkers contributed the correct answer from the codes given

to structure and function related concepts below :
. List—1 List—1I
and theories : (Types of Mobility)  (Sociological
Concepts)
1. R-Merton a. Movementup or 1. Lateral
2 A Comte down th_e socio- mobility
economic scale
3. T. Parsons b. Geographical 2. Intragenerational
movement between mobility
4. B. Malinowski neighbourhoods
towns or regions
Which one of the following shows the c. Movement from 3. Horizontal

one position to the  mobility

correct chronological order in which other in the course

contributions were made ? Indicate the ﬂf one’s working

ife
correct one. d. Mobility across 4. Vertical mobility
Codes : the generations 5. Intra generational

: mobility

(A) 1 2 3 and 4 Codes :

a b c d
(C) 2 4 3 and 1 (B) 4 2 5 1

(C) 4 1 2 5

(D) 2 3 4 and 1 (D) 2 3 4 1

10. Which of the following terms were used

8. Who said that mode of production is the by Vilfredo Pareto in his theory of

foundational determinant of the culture of “Circulation of elites” ?
_ 1. Governing elite
a given people ? 2. Speculators
) 3. Rentires

(A) E. Durkheim 4. Landlords

(B) K. Marx Select.the correct answer by using
code given below :

(C) M. Weber Codes :
(A) 2,3and 4 (B) 3and 4

(D) T. Parsons (C) 1and 4 (D) 1,2and 3

K-0714 (s) Paper I
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What is the correct sequence of dialectics
according to the Hegel ?

1. Synthesis

2. Thesis

3. Antithesis

Codes :

(A) 2 3 1

(B) 1 2 3

) 1 3 2

(D) 3 2 1

Match List — | with List — Il and choose

the correct answer from the codes given
below :
List—1
(Books)
1. The Coming of Post
Industrial Society

List—1I
(Writers)
a. Amos Hawley

2. Social theory and  b. David Cooper

Social Structure
3. The Seat of Family
4. Urban Sociology —
An Ecological

c. Robert Merton

d. Daniel Bell

e. Alwyn Toffler
Approach

Codes :

(A)1-d,2-c,3-b,4-a
B)1-d,2—-e,3—-a,4-b

(C)1-b,2-c,3-e,4-a

(D) 1-b,2-d,3-c,4-e

The difference between Radcliffe Brown
and Levi-Strauss on the concept of social
structure was whether the structure is

(A) An aggregate of roles

(B) An empirical reality

(C) An orderly arrangement of groups
(D) An ensemble of relationships

@
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14. According to E. Durkheim, marriage

15.

16.

17.

18.

(A) Increases the propensity to commit
suicide

(B) Decreases the propensity to commit
suicide

(C) Has no relation with suicide

(D) Increases the chances of being
happy

Which one of the following is not an
example of community ?

(A) A kibbutz

(B) A neighborhood
(C) Asect

(D) A village

Who of the following made extensive
use of the concept “Sociological
Imagination” ?

(A) A.Comte

(B) E. Durkheim

(C) C. W. Mills

(D) A. Giddens

In tribal life ‘ghotul’ represents
(A) Youth organization

(B) Traditional leader

(C) Form of marriage

(D) Regional deity

How is “Co-efficient of variation” always
expressed ?

(A) As aratio

(B) As a percentage
(C) As an average
(D) As summation

Paper Il
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Which of the following is associated with
quantitative analysis ?

(A) Case history
(B) Observation
(C) Sampling

(D) Ethnography

Which of the following is a measure of
dispersion ?

(A) Mean

(B) Phi coefficient

(C) Standard deviation

(D) Standard error

21. Who of the following is not associated
with studies of social mobility ?
(A) H.H. Gerth and C. W. Mills
(B) Martin Lipset and Reinhard Bendix
(C) David Glass
(D) John Goldthorpe

22. Who among the following have said
that “Social institution is a functional
configuration of culture pattern” ?
(A) Young and Ward
(B) Maclver and Page
(C) Ginsberg and Ginsberg
(D) Gillin and Gillin

23. In the Weberian analysis, which among
the following is not the basis for
institutionalisation of authority ?
(A) Tradition
(B) Legal
(C) Intelligence
(D) Charisma

K-0714
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‘Index number’ is always a
(A) Relative number

(B) Absolute number

(C) Primary number

(D) Random number

“The structure of scientific revolutions”
is authored by

(A) Harold Grafinkel

(B) Alfred Kuhn

(C) Immanuel Wallerstein
(D) Thomas Kuhn

Which of the following is an example of
ascribed status ?

(A) Husband
(B) Policeman
(C) Princess
(D) Doctor

Which among the following is not
correct ?

(A) Accommodation eliminates conflict

(B) Accommodation leads to
assimilations

(C) Accommodation is step towards
integration

(D) Accommodation is an appeasement
of an adamant group

The experimental research is based on
the law of

(A) Single variable

(B) Replication

(C) Improbability

(D) Interest of the subject

Paper Il
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30.

Who among the following thinkers is
not associated with the theory of social
contract ?

(A) T. Hobbes

(B) J. Locke

(C) R. Rousseau

(D) L. T. Hobhouse

Match List — | with List — Il and mark the
correct answer from the codes given
below :
List—1
(Concepts)
a. Social statics 1.
and dynamics

b. Class-for-itself 2.

List—1I
(Thinkers)
Emile Durkheim

Vilfredo Pareto

¢. Non-logical action 3. August Comte
d. Anomie 4. Karl Marx
5. Max Weber

Codes :
a b c d

(A) 3 4 1 2

(B) 3 4 2 1

(C) 4 3 5 2

(D) 2 3 5 1

31. The basic distinction between culture

and civilization is

(A) Culture is what we have achieved
and civilization is what we aspirate
achieve

(B) Culture is what comes out of
intelligence and civilization is not

(C) Culture is secondary and civilization
is primary

(D) Culture is what we are and
civilization is what we have

K-0714
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34.
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36.
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The concept of ‘Cultural — Lag’
explains that there is faster rate of
change in the

(A) Economic sector of society in
comparison to the non-economic
sector

(B) Technological sector of society in
comparison to cultural sectors

(C) Political domain in comparison to
economic domain

(D) Religious activities in society in
comparison to cultural activities

Who among the following defined
social structure as network and patterns
of role relationship ?

(A) S. F. Nadel
(B) Radcliffe Brown
(C) C. Levi-Strauss
(D) R. K. Merton

“Material culture” implies
(A) Possession of soft materials

(B) Possession of religious ideas and
beliefs

(C) Possession of articles
(D) Possession of scientific attitude

A distinguishable feature of a crowd is
(A) Transitory

(B) Continuous

(C) Permanent

(D) Stable

Religion is the “Opiate of the masses”.
This view was held by

(A) K. Marx

(B) M. Weber
(C) E. Durkheim
(D) A. Comte
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The concepts of ‘mechanical solidarity’
and ‘organic solidarity’ were developed
by

(A) H. Spencer

(B) C. Lavi-Strauss

(C) R. Radcliffe Brown

(D) E. Durkheim

The concept of ‘Ideal Type’ is given by
(A) M. Weber

(B) H. Spencer

(C) E. Durkheim

(D) V. Pareto

Which one of the following correctly
defines the term “ethnocentrism” ?

(A) Judging other cultures with the help
of cultural ‘ideal types’

(B) Judging other species by comparing
them with human species

(C) Looking at other cultures with a
sense of inferiority

(D) Judging other cultures with one’s
own cultural standards

“Interaction without social contact” is
(A) Integration

(B) Isolation

(C) Competition

(D) Conflict

Which among the following is not the
feature of a “Social Fact” ?

(A) Itis constraining

(B) Itis external to human mind
(C) ltis general

(D) ltis the sum of the people

Total Number of Pages : 16

42. A study of the relations between

43.

44.

45.

46.

organisms and their environment is
called

(A) Topography
(B) Geography
(C) Ecology
(D) Zoology

In which type of action both ends and
means are determined by custom, ritual
and ceremonies ?

(A) Zweckrational action
(B) Wertrational action
(C) Affective action

(D) Traditional action

Who among the following applied
structuralism for the first time to study the
primitives ?

(A) B. Malinowski

(B) R. Brown

(C) C. Levi-Strauss

(D) W. Frazer

A sample which is chosen in a manner
so that every member of the population
has the same probability of being
included is called as

(A) Quota sampling

(B) Cluster sampling
(C) Purposive sampling
(D) Random sampling

The value of mean, median and mode
coincide in case of

(A) Symmetrical distribution

(B) Negatively skewed distribution
(C) Positively skewed distribution
(D) Normal distribution
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47. Assertion (A) : Durkheim observed that
crime is an integral part of all healthy
societies.

Reason (R) : All deviant acts are not

criminal.

In the context of the above two

statements which one of the following is

correct ?

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)istrue, but (R) is false

(D) (A)is false, but (R) is true

48. Match List — | with List — Il and mark the
correct answer from the codes given

below :
List—1 List—1I
(Books) (Scholar)
1. The Folkways a. C. W. Mills
2. Power Elite b. L. Mumford
3. The City c. W. G. Sumner
4. Culture of cities d. M. Weber

e. D. Cooper
Codes :
(A) 1—-a,2- b,3-c,4-d
(B) 1-e,2-d,3-b,4-c
(C) 1-¢,2—-a,3-d,4-b
(D) 1-b,2-c,3-d,4-¢
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49. Which of the following is not associated

with functionalism ?

(A) Change is viewed as a slow process
of adjustment to new situations

(B) Changes constantly take place in
social system through internal
growth and adjustment

(C) Consensus is an ubiquitous element
of social system

(D) Changes are revolutionary and
effect qualitative transformation is the
social structure

50. Match List — I with List — Il and mark the
correct answer from the codes given

below :
List—1 List-1I
(Theories) (Scholars)

1. Structuration a. E. Goffman
2. Ethnomethodology b. A. Dumont

3. Concentric zones c¢. Park and
Burgess

4. Social Capillarity d.A. Giddens

e. Talcott
Parsons

Codes :

(A) 1-b,2-2a,3-d,4—e
(B) 1—a,2-b,3-c,4-d
(C) 1-d,2-a,3-c¢,4-b
(D) 1-c,2—-d,3-e,4-2a
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